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This paper is of eighty (80) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.
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Section-A / Gvs—d

(Long Answer Type Questions) / (€T IR T%)

Note :

e

Section ‘A’ contains four (04) long answer type
questions of nineteen (19) marks each. Learners are
required to answer two (02) questions only.
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1. “The process of transforming rural areas into urban
areas is called urbanization.” Discuss this statement.

“UrEfior eFl & TR A H gga @l Ulhar @l &
TRIGRT HEl Ol & |7 $6 U DI IRAT DI |

2. What is the concept of Mores ? Distinguish between
folkways and mores.

ABER B IJGIRVT T & 7 STRIG q AbraR §
IR WE B |

3. What is meant by social evolution ? Distinguish
between social progress and evolution.

AHINTS: SO | FT IR § 2 FHIIG I
qMT IEAHN W IR DI |

4. What is technology ? Explain the effects of technology
in bringing social change.

TrENfre! @ 8 ? mIfie IRads aF § denfial &
JTal I A |

Section-B / le—Yg
(Short Answer Type Questions) / (79 ITRIT U%)

Note : Section ‘B’ contains eight (08) short answer type
questions of eight (08) marks each. Learners are
required to answer four (04) questions only.

(A-80)



[3] S-306

dlc: Tue ‘@ H e (08) Y SN U ¥ W B

TAG Y b faU M (08) ofp fwiRd
Rrenfia @ 5% ¥ Badt IR (04) T B IR <
g |

Briefly discuss the following :

freferRad o Ferg | =i HIforu -

1. Differentiate between Modernization and
Westernization.
YA TG YRFHG H 3R T DI |

2. Write a brief essay on ‘The patterns of social change’.

AT IRade @ gfaa’ favy R e dferd e
forfRgy |

Write the impact of Industrialization on caste and
family in India.

IRd ¥ SMErfiexer & Wifd g URIR Wy
forRad |

What are the causes of Social Revolutions ? Discuss.

AT hifd b BRI T 8 ? ARAT DI |

Define the concept of “‘Modernization’.

STMBIBROT BT JFFLRVT BT YR DI |

Economic and cultural factors of Social Change.

IS gRac @ 3Midd Ud AiRpicrd HR |

What do you understand by demographic factors ?
SIfhaIT BRBI H 3T T T & 7
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8.  What do you understand by Globalization ?

TSR ¥ Y FaT \werd € ?

Section-C / YUs—TT

(Objective Type Questions) / (@& J)

Note : Section ‘C’ contains ten (10) objective type
questions of one (01) mark each. All the questions
of this Section are compulsory.

dlc ;. @ve T H 9 (10) TGS W @ W 2| RE
T & forg e (01) 3 fuiRa 21 39 wWve @

o 7o e €|
Indicate whether the following statements are True or False :
3T I & FfeiRad @em v € a1 oM
1. ‘Economic determinism’ is the theory of Karl Marx.
(True/False)
‘e fAeRoare’ a1 Rigra drel J1ad T |
GRVAES)

2. Sorokin is the author of “Social and Cultural

Dynamics”. (True/False)

A e HoeRd SIIHER” §RId b ol

ARG 2 | (g / )
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3. Linear and cyclical are the two patterns of social

change. (True/False)
Y@ T4 F1g AT IRadd @ < Ui g |
GRVAKR)

4, The theory of “Cultural lag” was developed by

Ogburn. (True/False)
“Areplien e &1 g e | fasiid
fora | GRVAKR)
5. The process of Industrialization has no relation with
urbanization. (True/False)
SRR @I UihaT BT TRIGRU A Pl T Tal
BT 2| GRVAR)
Match the following :
fAfeiRaa @1 gaferd BIfY :
6. Maclver and Page (@ Handbook of
Sociology
HPTER [0S I gUSgd 3
7. Kingsley Davis (b) The Sociology of
Revolution
[E2RKESIER T ARSI ifh

Rarezer
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8. Karl Marx (c) The Capital
BTel Hd T dulcd
9. Sorokin (d) Human Society
GINIEE] RNEIIKIEG
10. Ogburn and Nimkoff (e) Society
3T qUs fHDH BIKIES]
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